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EX:- In the Fig.2 with a certain current in circuit 1 a flux of 5x10 * webers
links with circuit 2. When circuit 1 is opened the flux falls to zero in 0.001 sec.
what average emf is induced in circuit 2?7

The average rate of decrease of flux in circuit 2 is

do_5x10~*

T e & 0.5 = webers/sec.

The a verge induced emf is therefore 0.5 volt .
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The galvanometer current at any instant is

e

i=%

R
R= Combined resistance of galvanometer and search coil.

¢ = instantaneous induced emf

i = the instantaneous current
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The maximum deflection of a ballistic galvanometer is proportional to the quantity

of charge displaced through it.
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EX:- what is the induced emf in circuit 2 when the current in circuit 1 changes at
the rate of 10 amp/sec?
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